Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 40

Section Marks : 200

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4855842896

Question Shuffling Allowed : No

Is Section Default? : null

Sub-Section Number : 2

Sub-Section Id : 4855842897

Question Shuffling Allowed : No

Is Section Default? : null

Sub-Section Number : 3

Sub-Section Id : 4855842898

Question Shuffling Allowed : No

Is Section Default? : null

Sub-Section Number : 4

Sub-Section Id : 4855842899

Question Shuffling Allowed : Yes

Is Section Default? : null
Accountancy

Group Number : 4

Group Id : 485584885

Group Maximum Duration : 60
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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No

Examiner permission : Cant View
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Accountancy

Section Id : 4855841025

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 40

Section Marks : 200

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4855842900

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 101 Question Id : 48558437816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In the ebsence of partnership agreement, mutual relations of pariers ars governed by the

|. Provisioes of Indian partoership Act 1042

2. Provisioaw of Indian parinerehip Act 1936

3, Provimions of Incion partmership Act 1236

B

4. Previsicaws of edian partoecalnp Act 1932

Options :

485584151261. 1
485584151262.2
485584151263. 3
485584151264. 4

Question Number : 101 Question Id : 48558437816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
TERA 158 # wRE § gEEE §F nw TReiE 9ae e e

L, RS TRt sfifFmTe4 35 g
. YR AreEEt ST s o e
.yt T st 193s & wEYE
3, YT T ST 1032 & wEyE

]

(Y]

Options :

485584151261. 1
485584151262. 2
485584151263. 3
485584151264. 4

Question Number : 102 Question Id : 48558437817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arrange the following m the confext of Acconmimg for partnership,

A, Prepaiation for Trading and Prafit and Less Aceoimt
B. Coleulstecas of divismible profit or Loss.

C. Preparaticar of poofit amed loss Approprintion Account.
D. Preparation of Balance Sheet

E. Preparation of partiers' capital Account.

Chaoge the correct answer foa the gived belon:
LA CBED
LA CERBRD
IBCDEA

4 C.INEAB

Options :

485584151265. 1
485584151266. 2
485584151267.3
485584151268. 4

Question Number : 102 Question Id : 48558437817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tafeian & wrar & 9! & g I wafiE st -

A, T [T 914 9 217 @1 o8l S
B. faum gy s w3 o
¢. m g = e am e e
D, FeH T JOH &

E. TEIETR 1 Tt S o e

At ety it el o el e o e D
1A €.BED
LACEE.D
3B.C.D.EA

4. C,BLE A B

Options :

485584151265. 1
485584151266. 2
485584151267. 3
485584151268. 4

Question Number : 103 Question Id : 48558437818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the tollowing 15 not a charge agams: profit?
|. Manager's Conmmissacas
2. Bient ro partiee
3. Ioterest on Lopn

4. nrerest on Partner’s Cogpital

Options :

485584151269. 1
485584151270. 2
485584151271.3
485584151272. 4

Question Number : 103 Question Id : 48558437818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

P 1 4 S0 m & 52 U weE =98 2
i, T o A
2. FEER w1 i
3. 0 O W
4, AR UE W e

Options :

485584151269. 1
485584151270. 2
485584151271.3
485584151272. 4

Question Number : 104 Question Id : 48558437819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Capital emploved by o Partnershup B is 3 5,00,00. Its savernge profit is Fs. 50000, The nonmal rate of return
a1 similnr tvpe of business s 10%%, The amount of super profits of the fimy will be:-

1. F3000:00

| B¥ ]

T 1D
3. Foo0M
4, E15MK0

Options :

485584151273. 1
485584151274.2
485584151275. 3
485584151276. 4



Question Number : 104 Question Id : 48558437819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TS Srien wH 3 Fafid ool 7 500,00 B | g sired ond 7 60000 | 5 W 3 ST # S DR
wit o 100 1 | T TR s sty oft wi et

L F50,000)

[ BY

« 10000

Ly

CES 00

4, 16,000

Options :

485584151273. 1
485584151274.2
485584151275.3
485584151276. 4

Question Number : 105 Question Id : 48558437820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

At the ime of ndmission of a new pariner, general reserve appearing in the old Balance Sheet i transtermed
-

L. All partners’ Capstal nccaunts

= Mew paitner's Capital account

LAl

+ O Parmers' Capuial accoumis

4. Sacaficing Partieds’ Copatal acconnts

Options :

485584151277. 1
485584151278.2
485584151279. 3
485584151280. 4

Question Number : 105 Question Id : 48558437820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




T W # WAR & B, [ 004 7 feem e i setaa s e -
1 W e @ g e
2. 7T ISR g e
5. T AR # ol E o
4, T S A0 WEER & (e En d

Options :

485584151277. 1
485584151278.2
485584151279. 3
485584151280. 4

Question Number : 106 Question Id : 48558437821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

; | : I
Alia and Despulen are parizers 1o a frmn. They admstted Priyanka ioto paninershup gaving hes X th share wlach

she poquired fromn. Al and Despika m the mto of 1:2 . What will be the new protit shanog matia?
B T33

2, 6.7

bt
[T
b
L

Options :

485584151281. 1
485584151282.2
485584151283.3
485584151284. 4

Question Number : 106 Question Id : 48558437821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

S o T o e e e finka L i ) 7w R ford e e
GUE b b T ﬂﬁuﬁqﬁﬁmﬁréﬂmamfaﬂﬁﬁ-ﬂammipw
L 753

2.e0T4

»
-
Eoy
et
-
=3

Options :
485584151281. 1



485584151282.2
485584151283.3
485584151284. 4

Question Number : 107 Question Id : 48558437822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Eadhaka and Fmnan are the partners na finn sharing Profits m the ratio of 723, They admitted Kamal as a new
|

periner for ﬁ th share. Kamal brmgs ¥ 19.75,000 as hes copiial and necessary share for premnom for goodunll,

It wae agised to vahss the gosboill at 3 years purcliass of super Profit, Drusing the year. the fisin samed a

profit of ¥ 430,000 and capital enploved ¥ 17300000, 1 normal eate of remirn 18 13%,, calenlare the anouns
tlint Kavnal should beiog m for gocdwil].

[.¥56.250
2.0 5.62.500
3 ELEY.H
4. T 162500
Options :
485584151285. 1
485584151286. 2

485584151287. 3
485584151288. 4

Question Number : 107 Question Id : 48558437822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TR A T09 0 B © TEEN § @l @0 &7 f@uUa= 7:3 § 30 1 &9 81 950 o o o5
mm'armﬂ'—Hﬂéﬂmﬁﬁm!mzw.ir.nvnﬁaﬂ$ﬁqmn@fﬁ:ﬁﬁﬁwm

miumﬁrqurﬂmwmﬂﬂﬂiﬂrﬂﬂﬁfﬁm&aﬁmﬁnm o 7 4,50.000 5 TTH
affiat BT e AT Ot 217 50,000 &+ 07% T U0 F1 3T 15% § 1 Sl S O 1 O w6 A
i &1 7= B 7

I 542150

I-J

5,62 500

b

T LAT.500

4,3 261500

Options :

485584151285. 1
485584151286. 2
485584151287.3
485584151288. 4

Question Number : 108 Question Id : 48558437823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

At the tame of retrement of 2 Partize, gam on revalonation will be credited to;
L. Capitnl A'e of retzring pertner
< Capital A'e of all Partngss in their old Profit Sharing satio
3, Capial accomts of remaming partiers m their odd Profit sharing rtic

4. Caputal Ae of the renniming Partisers i1 thewr nesy Prodfit Sheming ratio

Options :

485584151289. 1
485584151290. 2
485584151291. 3
485584151292. 4

Question Number : 108 Question Id : 48558437823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T WIEEH S TarHg F T0, T T T 9= 8 -
1. BT e o g e A
2, T AEET o ol we H ge @y e s o
3. 5 BRI & gt =R T 9o e e s
4, T TS 5 U9 @ # T T Ay e e

Options :

485584151289. 1
485584151290. 2
485584151291. 3
485584151292. 4

Question Number : 109 Question Id : 48558437824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

O o Dissabetion of n fim, repavmenst of Pariner's Loan to the finn will be shown in
1. Credit of Renlisation Accommt
2. Pastner's Capatal Aceount
3. Partmer's Curent Accoum

4. Credit of Back &'c

Options :
485584151293. 1
485584151294. 2



485584151295. 3
485584151296. 4

Question Number : 109 Question Id : 48558437824 Question Type : MCQ Option Shuffling
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

: No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Value
Comprehension MCQ

UF FH & {9023 U, X g1 HIER & F0) 51 7 F6t i sl -

L, TRgEt e O u u
2. HHER i e

[F

3. FEIERT & e =

-

s 1 M e

Options :

485584151293. 1
485584151294.2
485584151295.3
485584151296. 4

Question Number : 110 Question Id : 48558437825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Oy dhisselution of parpershup fum, unrecorded azsets wihen taken cover bey o partoer are shown o

1. Dehit sade of Pealisation A'c
o Credit side of Realisation A'e
3, Crenit side of Banks Avc

4. Debit sade of Bank A'c

Options :

485584151297. 1
485584151298. 2
485584151299. 3
485584151300. 4

Question Number : 110 Question Id : 48558437825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ




78 T e TE vERR g A A g AGuE A
L, TR T O

Tt T = s

% W Ty

4. 45 H B0 Oy

]

LFT]

Options :

485584151297. 1
485584151298. 2
485584151299.3
485584151300. 4

Question Number : 111 Question Id : 48558437826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Satish was appointed to ook after the dissolution work for whuels be was allowed 0 remupemtion of T 14000,
He agreed fo tale over the mvestment of the book valve of 2 11000 towards payieent of bis full rennmeration
(Investments hirve alpesdy been transferred to Renlisstion A'c) Tonmalize.

L. Ma Entry

2. Dy, Bealication Ade $14,000; Cr, Baad A'e F14,000

D, Beahsanon A'c 211.08080; Cr. Bank Avc 211,004,

LT

4. Dy Sphsh's Copital Adc £14 000; Cr Bank Ade 14000

Options :

485584151301. 1
485584151302.2
485584151303. 3
485584151304. 4

Question Number : 111 Question Id : 48558437826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

it w1 ] fwe @ & Smie & B e 0 38 7 14000 &1 TR e 8 38 A
qﬁmﬁﬂfﬂﬁﬂﬁﬁgﬁm%ﬁ 711000 [FTE il &1 1449 o4 0% Fe0d gon (Feu v # o s e o
BT g = &) ufe i

L. TG HiEE 78

 THE EE B 214000: TF FAT 214000
A EA BT 211000; FF BT 211000

2, e 0 Ukl T O 214000, 95 HIH 9 214000

14

Ak

Options :



485584151301. 1
485584151302. 2
485584151303. 3
485584151304. 4

Question Number : 112 Question Id : 48558437827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A4 the tune of disselubon ot :.l.'l.‘.l:ltl"".|'.l.':.| tiran. debiors were realssed ot o dasceoast of 5% {Book valoe was T
48,0000, Aamount renkised at the time of dissolubion was-

L #4600

Bd

7 44,600

CE4R000

Lt

4, F 45,400

Options :

485584151305. 1
485584151306. 2
485584151307. 3
485584151308. 4

Question Number : 112 Question Id : 48558437827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

RN FH & [Ee & W, a5 S 92 T T 50 (S HE 2 40000 17 [HE9ET & 900 94T
Eu .

L, F 47800
= T 44300
LF 48,000
4, 45600

Options :

485584151305. 1
485584151306. 2
485584151307. 3
485584151308. 4

Question Number : 113 Question Id : 48558437828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




#s per the Fmmncinl Stateanent of X |6d. sts shoreholdears' unds are 3 25,00,000, 2o current Latahifies are 3
4,580,000 and cwrrent Habilities are T 10,00,000, Mon current pssets are 3 13,80,000, Waorkime <apital of the
EOIIEIy 15

L& 1600000

2, 7 20.80,000
3.7 33.80.000

4. F 3400000

Options :

485584151309. 1
485584151310.2
485584151311. 3
485584151312. 4

Question Number : 113 Question Id : 48558437828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

. foo & faefi faeem & arpam aifteneat 2t i ¢ 25.00,000 8 T 975 S0 2 4.50.000 TH1 91,
ST 210,00.000 % 717 e TRETIT 7 13,580,000 8 01 01 SHUE G0 8 -

L. ¥ 16.00,000
2. T 29.80,000
3.¥ 33.80.000

4, F 34.00,000

Options :

485584151309. 1
485584151310. 2
485584151311. 3
485584151312. 4

Question Number : 114 Question Id : 48558437829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Froan the following Particulars, caleulpte cash flow from iovestmiz activities:-

A ploc of land bean purchased for mvestment purpoae ad was det ot for commercial oz and rent received 3
30,000

Tnferest paad on deberrhares 2 60,000
Purchase of Plang 3 4.40.000
Goodwill written off ¥ 20,000

Snle of Laned 3 5040000

L, ¥ 7000

=

= 01,50,

Ly

CF 300000
4, F 2000

Options :

485584151313. 1
485584151314.2
485584151315. 3
485584151316. 4

Question Number : 114 Question Id : 48558437829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Va0 G e T = B 0 e o e o e e i
sy e wew o e R s v v e e fim o e e = so.000 @

G 97 S 1 I
= 501,000

T & B0 3 440,000
amfirie iy =

20,000
yfiy o fdme # 5,00,000

L& T

b

ST 1500000
30F 300000
4, % BO000

Options :

485584151313. 1
485584151314.2
485584151315.3
485584151316. 4

Question Number : 115 Question Id : 48558437830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Mlotel List T with List 11

LIST I LIST 11
A [Reveluanon Reserce [ {Share Cagriral
B [lssued Capiml [1. |[Chher Non comvent Aseets
C. |Dascouni on issee of deberiures L. [imentones
D |Loose toal [N |Peserve and Susplus

Choose the correct noswer from the cphions given belows
1. A-L B-II. C-II, DTV

« Al B C=1, D]

| BN

C ARl BIV. C.l DLl

s

4. A-IV. B-1, C-I1L. D-II

Options :

485584151317. 1
485584151318. 2
485584151319. 3
485584151320. 4

Question Number : 115 Question Id : 48558437830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

et 17w g 1 % e afifen

Gl T
e 1. Jsmst
AT Tl TL {31 *17 <] dheaa|
FEOPET o 1900 3 32 | DL [ig o
el TV [TIeno oo s

fmfutea fowsal o 2 g8t o= 71 90 *tfan

L. A-L B-II, C-I01, DTV

(=] Fa =] =0

2, A=l Bl TV, Tl
4. AL B.IV. C.L DIl

4. A-IV, B-1, C-I1 -1

Options :

485584151317. 1
485584151318.2
485584151319. 3
485584151320. 4

Question Number : 116 Question Id : 48558437831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

Wihach of the following rem 15 ned consdered as cash and cash equrvalent”
|. Treasury Bills
= Connimgreial Papers
3. Marketable Secuuhies

4. Bills of Exchange

Options :

485584151321. 1
485584151322.2
485584151323.3
485584151324. 4

Question Number : 116 Question Id : 48558437831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

rafarfaa o @ fira o2 w Tws o Tws e T Qe e
L. T &
2, Ao T
3, far= grg wfeedfoa
4. Tefrrm s
Options :
485584151321. 1
485584151322.2

485584151323.3
485584151324. 4

Question Number : 117 Question Id : 48558437832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Method of cochfication should be;

L. Easy to smderstand, eryptic and process daka

k-2

Suszly that it leads to groupang «f accouts

B

<A identiiicaton wnrk

-

. To safeginard assets

Options :

485584151325. 1
485584151326.2
485584151327. 3



485584151328. 4

Question Number : 117 Question Id : 48558437832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
HiEem a4 ot st e

1. BOEH O A9, TEE aul HidE e
2. T =it o vl o |ggfieam & i o W@
3, T T T MR

o, TRl 2 24

Options :

485584151325. 1
485584151326.2
485584151327.3
485584151328. 4

Question Number : 118 Question Id : 48558437833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which mathematieal opotor 15 represented by an astenik (3 7
|. Multiplicatics
2. Sultraction
3. Addibon

2. Expaneitintion

Options :

485584151329. 1
485584151330. 2
485584151331.3
485584151332. 4

Question Number : 118 Question Id : 48558437833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




T - T el T O () B TR S e -

L T

A, TS

Options :

485584151329. 1
485584151330. 2
485584151331.3
485584151332. 4

Question Number : 119 Question Id : 48558437834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In what cell 15 the Bate for PMT function where = PMT (CE, C9, CLE C11. C12)7
1.CH

2,10

Options :

485584151333.
485584151334,
485584151335.
485584151336.

AW N~

Question Number : 119 Question Id : 48558437834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

PMT T4 % fom 32 e ofeet 1 &, 78l = PMT (08, €9, €10, CLL C12)7
I. T8

2.Cha

Options :

485584151333.
485584151334
485584151335.
485584151336.

AW N~



Question Number : 120 Question Id : 48558437835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The tenm ‘record’ as applied fo a database table mean:
1. Mame of the table

Heizoaal row of the tabls

| IF)

3. Bire of e table
4. Vertical column of the table

Options :

485584151337. 1
485584151338.2
485584151339. 3
485584151340. 4

Question Number : 120 Question Id : 48558437835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T e Smnfed TR O record T2 &1 FE0 2
L. W] &
2, it 1 e diE
3, A 3 AR
A, TR 6 T Y

Options :

485584151337. 1
485584151338.2
485584151339. 3
485584151340. 4

Question Number : 121 Question Id : 48558437836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Datm Lid. purchased assets of the ook value 3 4,000,000 and took over the hakality of T 50,000 grom S Lid
It was sgreed that puachase consideration will be seftled by cheque of T 100,000 and by isense of T 2,060,000,
105 debenturss at praminm of 25%., The Amowt of goodwileapital reeerve will be

L. 2 30,000 Capital reserve

| 2]

T 30000 goodwall

LT

7 50000 Capital resenve
4. There vall not be any Gooduall or Capoial Reserve

Options :

485584151341. 1
485584151342.2
485584151343.3
485584151344. 4

Question Number : 121 Question Id : 48558437836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

BTET . A | T 8 2 4.00,000 T Heg 1 UREHTTE! ¢ so.000 F 10 o) 09 WEHE EL R
TR w1 FTAT 21.00,000 TF R 7412 2.00.000 F 102 FHOTTH &1 25 Hitmm o2 = gr fam
A = ¢ gt s ah af gl -

L. ¥ 30,000 SHET Hay

2. 7 30,000 TG

3. T 50000 GoR Hag

4, T O T =T AR E

Options :

485584151341. 1
485584151342.2
485584151343.3
485584151344. 4

Question Number : 122 Question Id : 48558437837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arrange the follovwing in the context of Issue of shares

A Makng calls on shares

B. Beissue of fortified shares

. Calls in Arrear

L. Tm.usie:mug ;In:fi.l on reissue of shares to I:'rl.'_:u.t.:.'l Reserve
E. Forfeies of shares

Clwsoge the codrect answer foin the optiong given below:

1L ABCDE

IJ

A CERB.D

AACDEB

dim

ABDEC

Options :

485584151345. 1
485584151346. 2
485584151347.3
485584151348. 4

Question Number : 122 Question Id : 48558437837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

i & 49 F Fies & ey | oaitn i

A, HE T g A

B. g afmf & g e

C. T H

0. [ F0 O a1 e e B gt
E. 39T 1§20

e fd v Feeet 3 et I o = wifn
LA B CD.E
2 ACEBD
3ACDEB

1 ABDVECD

Options :

485584151345. 1
485584151346.2
485584151347.3
485584151348. 4

Question Number : 123 Question Id : 48558437838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Company isswes 10,000, 12% debentures of 1 100 cach at par, redeemable at premium of 5% atker 5 years. At
the time of allotment; josunal Entry will be:

L. Bank Ace Dy 10300000
To Diebemture appleeation and Alotmet A 10000000
Te Premium on Bedemption an Debentures Az £0).000

2, Bank Ave Dy 10, 12,000
T debentire Applieation aad alloniat Ag D120

3. Bank Adc Dr 10, 70000
To Debenture Applicatzon and Allotment Acc 10.70,000

4, Debeaynure Application sad Albonoent Ade D 10.00.000
Loss of Bssue of Debennee D 50,000
To [ 2% Debenture Ade 10.00.000
To prenuum oo Redemphion of Debentres A/c 50000

Options :

485584151349. 1
485584151350. 2
485584151351.3
485584151352. 4

Question Number : 123 Question Id : 48558437838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

10,000, 122 FOE! 2100 Tl e & G0 U Faie afes s difres o s ad & wieein
Ty el g S R g -
L. T B0 10.50.000
FOOFH A5 OUT W= &g | 10.00.000
WIFFaA o 309 4 50,000

2. s T =T 10,12.000
U ST T HTEET W 10, 12,000

3, =% = =0 10, 70,000
TS HEG aul HEe- =i H 10.70.000

4, TN e Tl -HTse F B 10,600,000
o @ Firtes we e e wft 20,000

120, WEUTCRT T & 1000000
TR 1= 9ie= | 8 s0.000

Options :

485584151349. 1
485584151350. 2
485584151351.3
485584151352. 4



Question Number : 124 Question Id : 48558437839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Drebennares can be redesmed m following ways except:-
L. Payments i instalments
2, Purcluaes in opety markei
3, Pryvment m lemip swm
A, Payment oy fived s
Options :
485584151353. 1
485584151354.2

485584151355.3
485584151356. 4

Question Number : 124 Question Id : 48558437839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T &1 W T it 2 e v E e -

1

. TS YT
4, #rd ufEmE | Y

Options :

485584151353 1
485584151354.2
485584151355.3
485584151356. 4

Question Number : 125 Question Id : 48558437840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Rovan Lid, issued LOEDE 9% debenfures of TL00 ench fo public. [ssue was subscnbed, The amount wall be
ahoam fs:

1. Operabing Acinaby

2 fl'.'.¢‘-l|:|:_e .-"|.¢Ti'-'1l:~'

[T

. Fimancang Actavity

4. Casl ond Cash equavalent

Options :

485584151357. 1
485584151358.2
485584151359. 3
485584151360. 4

Question Number : 125 Question Id : 48558437840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 1. 3 100,000, 9% BONEL 2100 WA &1 i e Feiee afian woa g o
& T 1 S A

1, wETEE v
x. i oy
3. et ey

4, FEF A IS Gl

Options :

485584151357. 1
485584151358.2
485584151359. 3
485584151360. 4

Question Number : 126 Question Id : 48558437841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




(tiven below noe the extrcts of ifommntion from Fiencial siatensents of Zucea Lid,

Partweuilar 220-28 |202]-21
I Eqpontaes and Labilities
e baddar s Pmnds
F.eserve and Susplus (Statememt of Profit and Loss) 4, (0O 7, 00, )
Cumrend Lataltiies - Dinadend Payvalble 4.0, 00

Calculabe amsount of Wet Profit after tnx. if ;o interim dividend of ¥ 2.00.000 vwas declared and paid
1% 3,000,000
2. % 500,000
3. F 4,060,000

4, F 540,000

Options :

485584151361. 1
485584151362. 2
485584151363. 3
485584151364. 4

Question Number : 126 Question Id : 48558437841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

HFe . & fired fae @ 9 g R e g -

EEril Aop21 | 22-n
I ST W T
1 = e A
HTiferd o HTo=m oy T s e 4,00,000 | 7,00,000
181 | E N B A0000

T I W TP T SO A, TR F 200,000 W T T OO 9 T fav )
L. 7 3,00,000
2. T 5.00.000
3. 4,060,000

4, T 540,000

Options :

485584151361. 1
485584151362.2
485584151363. 3
485584151364. 4



Question Number : 127 Question Id : 48558437842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The old preht sharmg rabio smeong A, B and © were 2:2:1, The new Frobit sharing racee atter B's retirement 15
F:2, The gaming rafio 15-

1201

Options :

485584151365. 1
485584151366. 2
485584151367. 3
485584151368. 4

Question Number : 127 Question Id : 48558437842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A B YT C 3 TR IR A TGS A 2 ) B @ TarHgi nwE T ar By d a8
| ST e

1

2

Options :

485584151365. 1
485584151366. 2
485584151367.3
485584151368. 4

Question Number : 128 Question Id : 48558437843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




P, (¢ mad B, are Partuers sharing Protits and losses equally. B oretres and Goodwall 1s appeanng m the books a2
T 30,000, Goodwill of the finm @5 valued a1 2 150,000, Colculate the net amount o be credibed to B's Capital
A'c for adjuwstiment of goochwill:

L. 2 0000
2 2 5
3.3 40,000

4-F 10000

Options :

485584151369. 1
485584151370. 2
485584151371.3
485584151372. 4

Question Number : 128 Question Id : 48558437843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

P, Q 4T R TEE & ol Al 7 1 &1 Fedee wem oA B # 21 R i S & o g A
30000 e e 1 w3 @1 =l 2 1.50.000 i gi1 =i Fomie v R ¥ Ou En F o
B vl wgE Ol 9t o it |

[ 60000
2. T50.000
34000

4,2 1000

Options :

485584151369. 1
485584151370. 2
485584151371.3
485584151372. 4

Question Number : 129 Question Id : 48558437844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




[ case of dissolution of firm. Assets sholl be 2pplied i the crder of -

AL Paying Loan Boan Partoers,

B. Paving secured debis of the fam

C. Paying Partuers Capital in propostica

. Paying umsecured debts of the fimm

E. The resadue shall be divided among the parters m fhewr Profit sharng ratie.

Chosse the coireet answver foin the options given belwo:
1 ABECD

IBIDACE
i.B.EDALC

1EDABC

Options :

485584151373. 1
485584151374.2
485584151375.3
485584151376. 4

Question Number : 129 Question Id : 48558437844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

W o e & gun &, afveluio] & Joui & we 2 -

A, BEEH 8 30 & Y7

B. Tl & Haftie 0 & i

C. WISER! B et 91 Sl JpEe

D, FH & O ] LT

E. T TR AT H 3 Ay e s o ffem gt

=i ety ) Tl o ) e o e i
LABECD
2B.D.A C.E
3B EDAC

1EDABC

Options :

485584151373. 1
485584151374. 2
485584151375.3
485584151376. 4

Question Number : 130 Question Id : 48558437845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




[denhify the comect sequence in be followed at the time of Desth of Pariner

AL Calendation of grnmg Fat.

B. Treabment of goodvall

C. Calculation of mew Prodit Batio

. Calculation of Amount trems ferred to Decreased Partner's Execoior
E. Prepamation of decensed Parmer Cagital Account

Choese the correct answer foimn the opfons given below:
1. C.DLE. A B
rAD B CE
S CABED

LEABCD

Options :

485584151377. 1
485584151378.2
485584151379. 3
485584151380. 4

Question Number : 130 Question Id : 48558437845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TSR T TR W A SHET R S A e e g

A STTERITY ST 1T

B. T aff o G

o, 0 T - AT e o e

D, T WHER  Toilter Bt gt 71 w5 T
E. Hd WSS 7 9 T oo e

w1l o 7T e o | HEl S aE wife
L.C,D.EAB
IATDRCE
3CABED

4+ EABCDH

Options :

485584151377. 1
485584151378. 2
485584151379.3
485584151380. 4

Question Number : 131 Question Id : 48558437846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




15 0 mensare of hepdsty wiieh exchdes

A Liguid Ranio

B. Current Batio

. Dbt equaty Batia
0. lventooy

E. Debioa

Chaoee the correct anpwer from the opiions goven below
L. Aand D ouly
2. Band E ouly
}, Cand T only

{. Diand E only

Options :

485584151381. 1
485584151382.2
485584151383.3
485584151384. 4

Question Number : 131 Question Id : 48558437846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

N 5 0F JIE 8wl 1 A Hl 8l

A, TETHT 9T
B. T 3

. FULEAE U
0, Tefam

E. 2R

A1 el 78 Tamvdl 8 9l 3% & 9ad S -
1. &dd A-HTD
2 AM R ARE
1y C AR D
4. FOA D ATE
Options :
485584151381. 1
485584151382.2

485584151383.3
485584151384. 4

Question Number : 132 Question Id : 48558437847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




s per AS 3 (Revised] winle prepanng cash flow statement the comrest sequence to be followed 15

A Caloulation of Cash fleny froe Foummaing Activities

B. Coleulation of cosh fiow from Ciperating Actiites

C. Calculaticas of cosh flow fram [ovestmg Activities

D. Calculatioo of et changes in cash and cash equivalents dwang the year
E. Caleulation of pet profit before tax and extra-crdinary items

Clhaooge the comect answer fon the options goven belaw:
LA C B ILE
LEBCAD
JEBACTD

4D, C.B.AE

Options :

485584151385. 1
485584151386. 2
485584151387.3
485584151388. 4

Question Number : 132 Question Id : 48558437847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I WS (AS)-3 & AR Tg 6T [Ha9m SR &4 G e g o a1 H1e0E &9 Y

a. firei Rerrmaroral & Uors waTe @1 IO

B. U=Ta- [ § e vare & o) &3

c. Faw Tearran 2§ IS Wi & I S

D, T4 T S TG AUl TG Geim H 2T T 9 IO O
E. T 741 0 5 T B A & 0] F

=71 Tl T et e e = e
l.A.C.B.D.E
LEBCATD
3EBACD

4D, CB.AE

Options :

485584151385. 1
485584151386. 2
485584151387.3
485584151388. 4

Question Number : 133 Question Id : 48558437848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The sy chee to He retaring Partwers ineludes;-

A Share of renanking partners gossdaill,
B. Credit balanes of las eapital Account.
C. His share of acoumulated profits.

D). His share of Goodwall

E. Cash brought i by remaiming parmers for adjustment of capicad.
Choese the codrect answer from the opriois wiven belmy

1.A CandE caly

2.8, Caod Danly

i A, Band E onky

LA BandC only

Options :

485584151389. 1
485584151390. 2
485584151391.3
485584151392. 4

Question Number : 133 Question Id : 48558437848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
TaTae OERER @ $a 50 8§ Bl 5 .-
A T TEaTa o wmh O um
B aﬁﬂiﬁwaﬂuﬁr@rﬂ
€. T a1 39 Ui
DoRF R AT :
E. W09 AT 51 O AR g [ e s
A1 30 T8 fFecal 4 He1 37 o S0 il
LIam A, C HRE
2O ER.C AR D
3 FA A B ANE

4 FIAABINC

Options :

485584151389. 1
485584151390. 2
485584151391.3
485584151392. 4

Question Number : 134 Question Id : 48558437849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Wan cwrent Assets michudes -
A, Capital work -in- Progress
B. Dhefersed tax Assets dnef)
C. Loose tools
D). Bahway slsdings
E. Imrentoay
Cleonre the correct answer from the oprions piven below

L. A Band Conky

2. A Caod E only

A

4. B and B oaly

4. B. C omd E anky

Options :

485584151393. 1
485584151394. 2
485584151395.3
485584151396. 4

Question Number : 134 Question Id : 48558437849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

% - AT R & e B
B, HRF T TR (0 )
C.HFE g

D, ¥Td 9E

E. T6i0
71 20 T T 0 e ) e D

L 3O A, B HRC
E A CHTE

Fod A BHID

I3

i

4, FO0 B, CHNE

Options :

485584151393. 1
485584151394. 2
485584151395.3
485584151396. 4

Question Number : 135 Question Id : 48558437850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Debenture Redamption Peserve 55 creabed L.

A Seviee Seenor Compagy

B. Mamufactunag Conapéaiy

C. Banking Coopany

0. Antcanohale Conypany

E. NFBC's registered nrih RE]

Cleosnre the correct answer from the oprioms given below:

L. A C and E anly

L

A B oaod D oaly

A

A B and E only
4. B. C omd Dy onky

Options :

485584151397. 1
485584151398. 2
485584151399.3
485584151400. 4

Question Number : 135 Question Id : 48558437850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
EpER e R T &g g oA g o
A, T e A
B, THET S
[ 2 '2_|.$|| H-]

D, TS T

E. RE1 & TU NFBC's Tilig

A1 o T Tl 3 T F 1 =0 el
13T A C HRE

1 WOMA B HRD

3. %0 A BHRE

4 %00 B, € AND

=

Options :

485584151397. 1
485584151398. 2
485584151399. 3
485584151400. 4

Question Number : 136 Question Id : 48558437851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Eecanstimtion of Partershap means;

A Claigge m Profit sharing Batio ansoeng existing pariiess
B. Dhgeoluticn of Pastassship finm

. Betivement of Partie

0. Admission of Partne

E. Death of Perimer

Cheooee the corrset angwer from the opticas presn below
L. A B, D md E only
2.4 B Cand Doaly
5, A C Dand E only

4 B.C.Dond E only

Options :

485584151401. 1
485584151402. 2
485584151403. 3
485584151404. 4

Question Number : 136 Question Id : 48558437851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TSN & e S ae & -

A, TERT TR ¥ A R e A
c mﬁ;ﬂfazlﬁqqﬁr

i I

D, ST T T

E. FIHGR ®1 7

S 720 7 fasaal 9§ 98 e & 0= ®iay
1. BT A, B. D 3NE

A B C3RD

oA A C. DARE

| c]

ki

i FORBR.CDHRE

Options :

485584151401. 1
485584151402. 2
485584151403. 3
485584151404. 4

Question Number : 137 Question Id : 48558437852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match Liast Iwith List 11

LIaT I TIaT 01

A [Ligmdiy Bang | 1 [Propneary Batio
H |Schrencoy Ratio 0 |[Trads Recenahle tumoner Batin
C. Ao Reto 1. [operating Ratio

T [Profmabilsty Pated 1V, [Cieent Ratio

Choose the comect answer from the optoss given below:

L A-L BTV, C-IIT, D11

d

AT B-TW, G-I, D=I1
3. AuIV. Bal, CoI1 D11

4, A-TV, B-II, C-1. D-I1I

Options :

485584151405. 1
485584151406. 2
485584151407. 3
485584151408. 4

Question Number : 137 Question Id : 48558437852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T 1w gl 1 e alifae
T T
A [ aFaE I [t o
B. [0 W A e | 0 e o e e
C_[aidmdl Ha0 1L f2a10 S0
D [Arvmem 3T N [ar AT
FmtalEa foma o 2 a8 o= = =07 $ifa .

I. A-L B-IV. C-[IL D-N
&, AT, BaIV, C=L I1e11
3. AV B CWIL DWII
+ A-IV B-11L C-1. -

Options :

485584151405. 1
485584151406. 2
485584151407. 3
485584151408. 4

Question Number : 138 Question Id : 48558437853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Mlokch Liast Twith List 1T

LIST1 LIsT 11
Formula Term'Tiem
A [Curent hiabilices = working cipiral 1_[Capwal Emaplove
B. |[3karehoides Fund = Debis 1 [Ogemsating Cost
| L [Operanng Expenses+ Cour of Bevesie froen operanon | IIL Wousvent Aty
D [Met Profd — Nen Dperating Expenses (-] Nos-Openatmng Inceass] IV pesarmg Prodic

C'hoase the comect answer from the aptious given below:
L. AL BIL C-IIL DIV
2. A-IV, B-IIL C-11, D
3, AIL Bl ClL DIV

4. A-L B-IIL C-IV, DT

Options :

485584151409. 1
485584151410.2
485584151411. 3
485584151412. 4

Question Number : 138 Question Id : 48558437853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
et 1w 1 # s afifi
TN 1 03 T N TS TE
A [FIFe TerfiteT - R et 1 [ertting et
B, |41 &1 i+~ B9 L. o= o
C. [T T + T O S w E [Tl 211
D [8T 61 -+ TR - Feie o0 - 19 Taee] ] 1V [Hene am

Frafefaa faereal o & ol oo o aom i -

L. A-L B-[1, C-II0, D-IV

58]

A=V, BaIlL C-I1, TI

CALIIE Bal Call. DelV

Ly

4, A-[, B-ITL -1V, T-IT

Options :

485584151409. 1
485584151410. 2
485584151411. 3
485584151412. 4

Question Number : 139 Question Id : 48558437854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match Liast Iwith List 11

LIST I L5110
A [Dperanng Acnvines] 1 [Deprecunion
B [ovesing Activiiies| [ [Cash Paud to Sopaleer
| L. [Fmancing Activitied T [Sale of Tand
D Moo Cash sem IV, ncrease 1o Share Caprial

Choose the comect nnswer from the optoss given below:

L A-IL B-11, C-L DTV

d

el Bl C-EW, D01
3. Al Bl CaIW D11

4, A-IL B-1T, C-1V, DI

Options :

485584151413. 1
485584151414.2
485584151415.3
485584151416. 4

Question Number : 139 Question Id : 48558437854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
et 17 g 11 F e e
Cell T
w Tt | 1
; I i o] G, T
T e | I R
D pR-iiea e A e EE A
Tt e O 2 |l o 3 =20 it -

[ A-IT B-EIT, C-F, DIV
2. A=l Bl C=IW. D=1
4. Aal; BaIl. C-IN, Tou110

4. A-IE B-IIL €-1W, T-1

Options :

485584151413. 1
485584151414.2
485584151415.3
485584151416. 4

Question Number : 140 Question Id : 48558437855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Mlateh Livst T witl List 11

LISTI LIST I
A [uger Profir 1_tacal Average Prodis -Normal Prodn
(]
B |Wormal Pratic i | Sageer Profie
Mewrmal mte of return
L [Goodwill 1L |Tceal Assets - Chiiside Labilities
I

Capital Engiloved = Nonmal Rme of Retrn
1TH}

jCapital Employed | TV

Chaose the carrect answer from the opticns given below:
LoA-L B0 C-1% D-110
= A= B=IIL C=], T=111
ACALLL BV, CWIL DN

4. A-I, B-IW, C-II, D-11

Options :

485584151417. 1
485584151418. 2
485584151419.3
485584151420. 4

Question Number : 140 Question Id : 48558437855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
et . 1m0 e - 1 F e wifad
T == 1
A [arfEemy 1 [ TG oI - T
100
B gEm ey |0 |afeEH X o —————
AR UodTd 54

C_f=ma N SR P L
ok 2 : @1 N CHTE: Ol v RS0 OETY AT

i1 Tl vl Tl & el I 1 = Sifa: P gul
L A, B-IL C-IV. D-II
2, ATV, Ball, G-I D11
3. AL BTV, CIL DI
4. AL, BTV, C-II1, DI

Options :

485584151417. 1
485584151418.2
485584151419.3
485584151420. 4

Sub-Section Number : 2
Sub-Section Id : 4855842901
Question Shuffling Allowed : No

Is Section Default? : null



Question Number : 141 Question Id : 48558437856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Rend the following case study and answer G 41-45.

Surya Lid dseweed 100000 equity alsarss of £ M cach at a pretaivm of 10%, Tl company secerved applasation
foa 130060 shares. The monount was payable as: oo application 30%%, oo allotment 20% plas Premann; ooy 1
call 10% axd Balance oo final call. Allotwicnt was made pio-rata for all applicasts, Exeess applicanion monsy
received & to be adjnsted o allotment, Compaany recerved all money called exeept from Mmum, an applicaar
af 380 shares, Manam Fasd caly application moaey. His shares were forfeited and 7(Pa of the forfeited shares

were reisswed as fally paad for ¥ 40 each.

What mmount 15 recerved by conpany i securizes Fremimm Feserve Acoouna
1. A0000
2. T 48050
3. AR AN

4.7 48,500

Options :

485584151421. 1
485584151422.2
485584151423.3
485584151424. 4

Question Number : 141 Question Id : 48558437856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Tt 78, A 250 WF 919 10,000 TEA A9 &7 100, WFE 93 Fefoe ) e &1 13,000 A9 S A
IS W g | 178 A 0o &0 L. 30m. MIdEA O 300 aul fifirom andes 0w, e AUl OIEET TR
T = iR AT e T STaE o SR andes v T sl ardea ofi o e
O YT AT 8 1 0161 Wl O il o 25 a0 00 A9 F HEEE F ) 095 A Fa
Hﬁﬂ?ﬁﬁ?ﬁﬁﬁmmﬂﬂﬂﬁmﬁ%ﬂﬁmnmﬁﬂn&ﬂﬁﬂﬁ?mmﬂmnnmﬁm
T e w9 H O e e B

FULTE O Uy 41 0 45 & F9 S

R SR T ) T e I e g
I, % 50000
2. 48050
3. F 58,500

4. T 43,500

Options :



485584151421. 1
485584151422.2
485584151423.3
485584151424. 4

Question Number : 142 Question Id : 48558437857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Rend the talloviug case ﬂh.'ld:,' and azwwver O 41=45,

Surya Lid dseeed 100000 equity alares of £ 30 cach at & premivim of 10%. The company recemved applicarion
fos §3_0040 shares The pinomnt was payable as oo application 30%. o allotiment 300 plos Premaon: oo L
call 10% snd Babanes on fival call. Allotnient was made pro-rats for all applicasts. Exeest applicarion ionsy
raceived 1 to be adjnated om allotment. Compaayy received all money called except froan Mmimy, an applicaat
of 300 shares, Manan Pasd caly apphicaton meney. His shares were forfeited and 7074 of the forfeited shares

were reissiwed as fully paad for ¥ 40 each.

Calculate the amoant recerved by Surym hmited oo allotimens
1% 20000
2. T 196350
2T 1E0AL]

4. F 193,650

Options :

485584151425 1
485584151426.2
485584151427.3
485584151428. 4

Question Number : 142 Question Id : 48558437857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Tof 7. 3 250 Uela 918 10,000 BHA A 7 oo Wit w8 Fefee i S &1 13,000 307 % fl
SHTHEA WIS B0 1 71720 P W 30 M 30 HEEA U2 30% 1 Hiffom amdes 02, oes R O I
G B e e E T e e o e R e e e B B e
X QR A 8 | @A i H i 78 e 5 R 5 300 AT B HiETE &) Hee A Sad
Hﬁﬂ?lﬁlﬂ?mﬁﬁmmﬂﬂﬂﬁlmﬂﬁ%ﬁlﬁmlmﬁf&ﬁﬂﬁﬂ‘ﬁ?maﬁﬁmunmﬁw
T sprag w9 H O e e B

FUITE TR T 0y 41 W 45 & 39 i



ot i1 5 e T o At 6 e a6
1. 7 20000
2% 1.86.350
30F 130,550
4.7 1934850

Options :

485584151425. 1
485584151426.2
485584151427.3
485584151428. 4

Question Number : 143 Question Id : 48558437858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Rend the tollovnng cnse study and aowaver G 4145,

Surya Lid dseweed 100000 equity alsarss of £ M) sach at a pretaiom of 10%, Tl company secerved applisation
foa 130060 shares. The monount was payable as: oo application 30%%, oo allotment 20% plas Premann; ooy 1
call 10% and Balance oo final call. Allotwicnt was made pio-rata for all applicasts, Exeess applicanion monsy
received & to be adjusted o allotment, Compaay recerved all money called exeept from Maim, an applicant
af 380 shares;, Manam Fasd caly application moaey. His shares were forfeited and 710Pa of the forfeited shares

were reisswed as fully paad for ¥ 40 -each.

Binlawce o Secunitiss Preminm can be wiihised for
L. Buying of Asset
2 Conversions of Debentires
3, Bury Bagk of Shaves

4. Bepaynent of Debis

Options :

485584151429. 1
485584151430. 2
485584151431.3
485584151432. 4

Question Number : 143 Question Id : 48558437858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




Tt 78, 3 250 WF 19 10,000 FEA AW &1 10w HifEm = FeieE ) e #0000 9T F O
SHTHEA WIS B0 1 71720 P W 30 M 30 HEEA U2 30% 1 Hiffom amdes 02, oes R O I
U B Hfow arE 9T ol STaEmE o Srao andes v T sfaf ardee Tl o amde
T GHA A 6 | @Al ) Wl i T e 5% e B do0 A & HiEEE F ) B A
aﬁﬂﬂmﬂ%ﬁmﬁﬁmmaﬁﬂﬁrmmﬁmﬁm|mﬁr&n&mﬁﬁﬁrmMmunuﬁm
T sprag w9 H O e e B

FUITE TR T 0y 41 W 45 & 39 i

Wi diftyes & iy = oge GlEER e
. ofvafef & vy
2, FOTEH] O g
3. afurl % @ FrgEt
4, ] &0 - I
Options :
485584151429. 1
485584151430.2

485584151431. 3
485584151432. 4

Question Number : 144 Question Id : 48558437859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Rend the following case shudy and answer G 41-45.

Surya Lid dseweed 100000 equity alsarss of £ M cach at a pretaivm of 10%, Tl company secerved applasation
foa 130060 shares. The monount was payable as: oo application 30%%, oo allotment 20% plas Premann; ooy 1
call 10% and Balance oo final call. Allotwicnt was made pio-rata for all applicasts, Exeess applicanion monsy
received & to be adjusted o allotment, Compaay recerved all money called exeept from Maim, an applicant
af 380 shares, Manam Fasd caly application moaey. His shares were forfeited and 7(Pa of the forfeited shares

were reisswed as fully paad for ¥ 40 -each.

Allotment Doe per share will be-

Options :

485584151433. 1
485584151434.2
485584151435.3
485584151436. 4



Question Number : 144 Question Id : 48558437859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Tt 78, F 250 W 919 10,000 TEA] A9 &7 100 WfE 93 Fefoe a0 &1 13,000 A9 F
IS W g | 178 A 0o &0 L. 30m. MIdEA O 300 aul fifirom andes 0w, e AUl OIEET TR
T w Aife TrEe O | et o o anges v rmn e sl ardee afi am ek
T QAT A1 8 | S0 1w Qi 0 0 g2 [ 5 aco A9 F HEEE F ) 5 T S
aﬁﬂnmaﬂ%nm%mmaﬁﬂmmm%mw.mm&ﬁmﬂﬂﬁrmannm
T g =9 H O e o B v

FULE O G By 41 0 45 & FO ST

3235

Options :

485584151433. 1
485584151434.2
485584151435.3
485584151436. 4

Question Number : 145 Question Id : 48558437860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Rend the following case study and answer G 41-45.

Surya Lid dseweed 100000 equity alsarss of £ M cach at a pretaivm of 10%, Tl company secerved applasation
foa 130060 shares. The monount was payable as: oo application 30%%, oo allotment 20% plas Premann; ooy 1
call 10% and Balance oo final call. Allotwicnt was made pio-rata for all applicasts, Exeess applicanion monsy

received & to be adjnsted o allotment, Compaany recerved all money called exeept from Mmum, an applicaar
af 380 shares, Manam Fasd caly application moaey. His shares were forfeited and 7(Pa of the forfeited shares

were reisswed as fully paad for ¥ 40 -each.

G on Be=issue of the shares will be ransfemed to
1. Share Capatal
2. Becurities Préqmiuim Pesense
3, Capital Reserve

4. Cenernl Reseve

Options :
485584151437. 1



485584151438. 2
485584151439.3
485584151440. 4

Question Number : 145 Question Id : 48558437860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

ot 7. 7 250 Wells G 10,000 TEE] A T Lo AR O e RO | S 13,000 M Rl
IS W g | 178 A 0o &0 L. 30m. MIdEA O 300 aul fifirom andes 0w, e AUl OIEET TR
T w AifeA T U W ATaEw o o anges v e sl airdee i e e
T YT FIAT € | auﬁtaﬂmﬁurﬁammﬁrfﬁqamm:mmEm#. 5 A Fag
aﬂmﬂﬁ?mﬁmmﬂﬁaﬂmm%mm.mﬁmwmﬂnrm,Mmuum
o 3pTE T el e e v

FUITE TR G 0y 41 W 45 & e i

e & O AT TR | gt g
1. 34 Tt
4.t F=
A A =
Options :
485584151437. 1
485584151438. 2

485584151439.3
485584151440. 4

Sub-Section Number : 3
Sub-Section Id : 4855842902
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 146 Question Id : 48558437861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2




Bead the following lnfermatbon provided by a school and attempt Question 46 - 50

The Trinl Balance of 2 school as oo 51,3.2017 is

Dehit Bakance """ﬁ;‘” Credit Balamce ""“‘m""'
Hrildmn R e 13.500)
Frenrhae 0 Twiton fees recerved 300,000
L ibrary books L, 50, 000 Cre dezoes. for supplies 13,000y
rrvesiomen (F 12% (14,163 | 5,00 00 For the schaol ball 10 00c
[alaness 3,00, 000 o lane i raceipts 30,00y
[Sdatiomery el epacies (penerall 3,50.000
l.";-munl.i::-l.pmt'. 18, erad fund 1I].l'.'l:l.[l|_]£l
[Sparts expenses 1% 0¥ Diopation for hbcary books| 625008
- il 4 bank 100 GO0Sate of old Forruinge 20000
}oash m hand 2500

2001 (HHY 210,060 11
Avdditional Information:

The book valse of fhe fumnsure sold was F 500000 cn Apal 1. 2016 was sold for § 20,000,

What nmount of lnterest oo investinent will be credited to Income and Expenditure account
1. % a0
2.7 30.000
3.7 1.20.000

4. F 50,006

Options :

485584151441. 1
485584151442.2
485584151443.3
485584151444. 4

Question Number : 146 Question Id : 48558437861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2




RIS ] S Tie TN 46 - S0 & ST Al

U fenan &g 4 8 70 gaue au 30 Tt 8 2120322017 T TOTE B Trd T 2 41 e
T AT e O 39 i &1 0OR i

o G -
6,25, 000I I 1 e 125008
Eﬁ? 50, 100{2T T W 5,00, 0001
[T I !.--"5'19'!@@%217. R 15000
[12%) L4716 | 500, 0000fS=ITeY #1d d e 1600
A 5,00, 000 [ TG 30,0001
T A A0, D00 () 3, 50,0000
T ]S.I]I]Et'ﬂmmﬁﬁl' 10,0 {HiC
T = 15, 000 FAETY S JEF 1 B 5 &2, 500
Hfway s |.m,uum3?ﬁm=ﬁa:n§rﬁamﬁ 20,
ERRITTEE 2000
20,06, 006 20,00, Iy
ST =

1 MU= 2006 FT 250000 T 050 & 197 31 [@ed 2 20000 H T mm

SHIET T T e H e o e o et i o et o
1. % 60,000
2. % 30,000
3.F 1.20.000

4,2 50,000

Options :

485584151441. 1
485584151442.2
485584151443.3
485584151444. 4

Question Number : 147 Question Id : 48558437862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2




Bead the following lnfermatbon provided by a school and attempt Question 46 - 50

The Trinl Balance of 2 school as on 51,3.2017 is

Dehit Bakance """ﬁ;‘” Credit Balamce ""“‘m""'
Frildmg £ 25 D00 Adeaisaios foes 12.500)
Frenrhae 0 Twiton fees recerved 300,000
L ibrary books L, 50, 000 Cre dezoes. for supplies 13,000y
rrvesiomen (F 12% (14,163 | 5,00 00 For the schaol ball 10 00c
[alaness 3,00, 000 o lane i raceipts 30,00y
[Sdatiomery el epacies (penerall 3,50.000
l.";-munl.i::-l.pmt'. 18, erad fund 1I].l'.'l:l.[l|_]£l
[Sparts expenses 1% 0¥ Diopation for hbcary books| 625008
- il 4 bank 100 GO0Sate of old Forruinge 20000
}oash m hand 2,500

2001 (HHY 210,060 11
Avdditional Information:

The book valse of fhe fumnsure sold was F 500000 cn Apal 1. 2016 was sold for § 20,000,

Turtiom Fees Received wall he
1. Shoae as Babibitves in Balance Sheet

i

2. Shecan ss Expenae aid debabed o lneoane and Expendinge Al

i

» Sherwm as Income and credited o Incomee and Expensditure A'c

e

- Shewa as payineats in Recept and Paymeay Adeoimt

Options :

485584151445. 1
485584151446. 2
485584151447.3
485584151448. 4

Question Number : 147 Question Id : 48558437862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Comp2




RIS ] A Wt TY 46 - 50 & 3T i

U fenan &g 4 8 70 gaue au 30 Tt 8 2120322017 T TOTE B Trd T 2 41 e
T AT e O F 9 i &1 00R B

e o um -
.25, DOC{HET 12,5001

Eﬁ? 50, 000 TEE T 5,00, 0008
[T I !.-éi?ﬂf'ﬁ%réﬂ 150008
{7 1200 L1 | 5.00,000 ElmilT;]ﬁT{qu 10,000
ShEl 5,00,00 ﬁ.ﬁw 30,000
TR W A0, N00ferTEe (T, 3, 500000
HFID 18, D00/ EHR (=10 10,00, 10
T = 15,000 ST S IS g 5 &2, 500
Hfway s |.u:-.'n,uur.ug,'ﬂf'il1:|:=ﬁE|:[1fl:;lr1'=:!ﬁ|'rl:|Tz"q 20,
Fel THE 2000}

20,060, 000 20,00, 004
ST T -

1 MU= 2006 FT 250000 T 050 & 197 31 [@ed 2 20000 H T mm

WA YT A
1. g A | giftem & w o wefila
2, B o &9 B Ul 370 @ O E § S iEhid
3. 30 & =9 § 7u7 #10 @ 900 =1 | o wehla
4, e O T T 5 471 & 0 aa3fila

Options :

485584151445. 1
485584151446.2
485584151447.3
485584151448. 4

Question Number : 148 Question Id : 48558437863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2




Bead the following lnfermatbon provided by a school and attempt Question 46 - 50

The Trinl Balance of 2 school as on 51,3.2017 is

Dehit Bakance """ﬁ;‘” Credit Balamce ""“‘m""'
Frildmg £ 25 D00 Adeaisaios foes 12.500)
Frenrhae 0 Twiton fees recerved 300,000
L ibrary books L, 50, 000 Cre dezoes. for supplies 13,000y
rrvesiomen (F 12% (14,163 | 5,00 00 For the schaol ball 10 00c
[alaness 3,00, 000 o lane i raceipts 30,00y
[Sdatiomery el epacies (penerall 3,50.000
l.";-munl.i::-l.pmt'. 18, erad fund 1I].l'.'l:l.[l|_]£l
[Sparts expenses 1% 0¥ Diopation for hbcary books| 625008
- il 4 bank 100 GO0Sate of old Forruinge 20000
}oash m hand 2,500

2001 (HHY 210,060 11
Avdditional Information:

The book valse of fhe fumnsure sold was F 500000 cn Apal 1. 2016 was sold for § 20,000,

Generml Fund 15 akso knowvm as
1. Bestnoted Fund
2. Arete Fund

3. Capetal Fund

4. Burplus o Defiat

Options :

485584151449. 1
485584151450. 2
485584151451. 3
485584151452. 4

Question Number : 148 Question Id : 48558437863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2
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T A A0, D00 () 3, 50,0000
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Options :

485584151449. 1
485584151450. 2
485584151451.3
485584151452. 4

Question Number : 149 Question Id : 48558437864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2




Bead the following lnfermatbon provided by a school and attempt Question 46 - 50

The Trinl Balance of 2 school as oo 51,3.2017 is

Dehit Balance ""ﬁ‘" Credit Balamce ""?;;‘"'
Heddung £.05 D00 Admissioe fees 12500
Frenrhae 0 Twiton fees recerved 300,000
[Libkeary books L, 50, 000 Cre dezoes. for supplies 15,0008
E‘e:h:nml E‘ 13851 4 1ah 5,00, 00 For the =chosol bail 10 D00y
[alaness 5,00, Mruosllones pos receipts 30,00y
[Saationery m.%:mu ipenerall 3,530,000
l.";-munl.i::-l.pmt'. 18, erad fund iﬂ.l:l:l.lill_]l:l
[Sparts expenses 15, oratien for bbrary beoks| 62 500)
Caik az bank 100 G00Sake of old favine 0000
}ash m hand 2

208 00 T0HY 210,060 11
Additional Information:

The book valse of fhe fumnsure sold was F 500000 cn Apal 1. 2016 was sold for § 20,000,

Fummature of Book valae T 50,000 was sold for 3 20,000, Lass on Sale of Funhare of T 35,000 wall be

1. Credited to Recept and Pmanent Ac
2. Deebated ro Reseipt and Pazvment A'¢
3 Credited o Income and Expenshiture Avc

4. Debated bo Hsocane and Evpenditiere Ao

Options :

485584151453. 1
485584151454.2
485584151455.3
485584151456. 4

Question Number : 149 Question Id : 48558437864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2




RIS ] S Tie TN 46 - S0 & ST Al

U fenan &g 4 8 70 gaue au 30 Tt 8 2120322017 T TOTE B Trd T 2 41 e
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o G -
6,25, 000I I 1 e 125008
Eﬁ? 50, 100{2T T W 5,00, 0001
[T I !.--"5'19'!@@%217. R 15000
[12%) L4716 | 500, 0000fS=ITeY #1d d e 1600
A 5,00, 000 [ TG 30,0001
T A A0, D00 () 3, 50,0000
T ]S.I]I]Et'ﬂmmﬁﬁl' 10,0 {HiC
T = 15, 000 FAETY S JEF 1 B 5 &2, 500
Hfway s |.m,uum3?ﬁm=ﬁa:n§rﬁamﬁ 20,
ERRITTEE 2000
20,06, 006 20,00, Iy
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1 MU= 2006 FT 250000 T 050 & 197 31 [@ed 2 20000 H T mm
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Options :

485584151453. 1
485584151454.2
485584151455.3
485584151456. 4

Question Number : 150 Question Id : 48558437865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2




Bead the following lnfermatbon provided by a school and attempt Question 46 - 50

The Trinl Balance of 2 school as on 51,3.2017 is

Dehit Balance """ﬁ;‘” Credit Balamce ""“‘m""'
Heddong £.05 D00 Adeissioe fees 125008
Frenrhae 0 Twiton fees recerved 300,000
[Libkeary books L, 50, 000 Cre dezoes. for supplies 15,0008
rrvesiomen (F 12% (14,163 | 5,00 00 For the schaol ball 10 00c
[alaness 3,00, 000 o lane i raceipts 30,00y
[Sdatiomery el epacies (peneral) 3,50.000
l.";-munl.i::-l.pmt'. 18, erad fund iﬂ.l:l:l.lill_]l:l
[Sparts expenses 15, oratien for bbrary beoks| 62 500)
Caik az bank 100 G00Sake of old favine 0000
}oash m hand 2,500

2001 (HHY 210,060 11
Avdditional Information:

The book valse of fhe fumnsure sold was F 500000 cn Apal 1. 2016 was sold for § 20,000,

Excess of Sparts Expenses aver Spoits Funds wall be
L. Debited to Income and Expenditure A'c
2, Credited 1o Income and Expenditure Ade
1. Shown om Assets sacde

4. Shovwn as Megative balmyee on Linbilites side

Options :

485584151457. 1
485584151458.2
485584151459. 3
485584151460. 4

Question Number : 150 Question Id : 48558437865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2
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Options :

485584151457. 1
485584151458.2
485584151459. 3
485584151460. 4
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